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unsigned char x;
void setup() {
DDRD = B11111111; //aualvinasn D lluwasvianvinn
b
void loop() {
x = B00000001; //ammualii X = 00000001
for(inti = 0;i<8;i++){ // rimumﬁ’m’au;samﬂu 8
PORTD = x; // &A1 X aanfinasn D
delay(300); /] wir9aa1 300 ms
X <<=1; // W&aua x Tdmeding 1 4a
b
b
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int incomingByte = 0;
void setup()
{

b
void loop()
{

Serial.begin(9600); /] ivuaanusinmsdaansiu 9600 fasaiunii

if (Serial.available() > 0) /] asngauifidayaiininasnaunsuviza’li ddilvivin
{
incomingByte = Serial.read(); //@ udlranawasnaynsuutiunenils
Serial.print("I received: "); //&stiamu I received” aanniynasnaunsy
Serial.print(incomingByte); //&diayaludindsaanmenasnaunsy
Serial.printin(incomingByte, HEX);
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/* RS232 get and print data*/
int a,b;
void setup()

Serial.begin(9600);

// prints title with ending line break
Serial.printIn("Reads incoming serial data.");

}

void loop()
{
if (Serial.available() > 0)
{
a = Serial.read(); // read the incoming byte:
Serial.printin(a);

b = Serial.read(); // read the incoming byte:
Serial.printin(b);

Serial.print("number "); // say what you got:

if(a>b) Serial.printin(a);
else Serial.printin(b);
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